## ATTRACTORS FOR DIFFERENTIAL EQUATIONS WITH MULTIPLE VARIABLE DELAYS

Tomás Caraballo<sup>a</sup> and Gábor Kiss<sup>b,c</sup>

<sup>a</sup>Dpto. Ecuaciones Diferenciales y Análisis Numérico Facultad de Matemáticas, Universidad de Sevilla Campus Reina Mercedes, Apdo. de Correos 1160 41080 Sevilla, Spain

and

<sup>b</sup>Department of Mathematics Imperial College London London SW7 2AZ, United Kingdom

and

<sup>c</sup>Bolyai Institute University of Szeged Aradi vértanúk tere 1 H-6720 Szeged, Hungary

(Communicated by Jianhong Wu)

ABSTRACT. We establish some results on the existence of pullback attractors for non–autonomous delay differential equations with multiple delays. In particular, we generalise some recent works on the existence of pullback attractors for delay differential equations.

1. Introduction. The state of many real-world problems at a given moment may depend on their previous state(s). When the rate of change of state variables depends on past values of states, independently of their derivatives at previous instants, delay differential equations are often used in the mathematical modeling of the process in question. Furthermore, if the dependence on the past is independent of time and states, the equations take the following form

$$\dot{x} = f(x_t) \tag{1}$$

where  $f: C \to \mathbb{R}^n$ ,  $C := C([-h, 0]; \mathbb{R}^n)$ , h > 0 is a positive delay, and  $x_t$  denotes the segment of the solution defined by  $x_t(\theta) := x(t+\theta)$ ,  $\theta \in [-h, 0]$ . We have quite a detailed, but far from complete, knowledge about the non-linear dynamics of these type of equations, see [12, 18, 23]. When equations with many or distributed delays

<sup>2010</sup> Mathematics Subject Classification. Primary: 37C30; Secondary: 34D45, 34K20.

 $Key\ words\ and\ phrases.$  Delay differential equation, non-autonomous dynamics, pullback attractors.

The research of T.C. is partly supported by Ministerio de Ciencia e Innovación (Spain) under grants MTM2008-00088 and MTM2011-22411, and Junta de Andalucía (Spain), project P07-FQM-02468. The work of G.K. was supported in part by the grant MTM2008-00088, Ministerio de Ciencia e Innovación (Spain), the Engineering and Physical Sciences Research Council grant EP/H019197/1, Leverhulme Trust grant RPG-279 and the Basque Center for Applied Mathematics.

are considered, the available knowledge is rather restricted. Even the linear stability analysis of these equations can be a challenging task. The stability properties of certain equations with distributed delays compared to associated equations with one delay were studied in [8, 9]. Using topological fixed point theory, the existence of periodic solutions to non-linear equations with two delays was studied in [17]. A recent work, using computer assisted proofs, proved the coexistence of three periodic solutions to a non-linear equation with two delays [10]. The aforementioned results are about autonomous equations, i.e. of type (1). The theory to study the long time behaviour of these systems in terms of attracting sets was established in [6]. One of the most recent works in this direction is presented in [13].

Usually, the assumption on time invariant delays makes the treatment less involved. However, in some cases, mathematical models with time varying delays can provide better explanations of many real–world phenomena. For example, an interesting numerical experiment on gravitational force with time varying delays was reported in [14]. In these cases, equations modeling the phenomena become explicitly non-autonomous, i.e.,

$$\dot{x} = f(t, x_t),\tag{2}$$

where  $f : \mathbb{R} \times C \to \mathbb{R}^n$ . Although, the theoretical foundation for studying the attracting sets of non–autonomous dynamical systems was laid in [21, 22], our particular knowledge about the dynamics of non–autonomous delay differential equations is less developed.

Recently, the concept of pullback attractor was introduced and is being used to analyse non-autonomous dynamics (see, e.g., Caraballo et al. [1] and Kloeden [11], and the references therein). Some aspects of the bifurcation theory for non– autonomous ordinary differential equations were discussed in [19].

The objective of the present work is to contribute to the above mentioned fields of studies, mainly focusing on the existence of pullback attractors. Namely, we generalise recent results presented in [2, 3] on attractors for delay differential equations with time varying delay. We will consider delay differential equations of the form

$$\dot{x}(t) = F_0(t, x(t)) + \sum_{i=1}^m F_i(x(t - \rho_i(t)))$$
(3)

under the following assumption on  $F_0$ :

(A1):  $F_0: \mathbb{R}^{n+1} \to \mathbb{R}^n$  is continuous and there exist  $\alpha_0 > 0, \ \beta_0 \ge 0$  such that

$$\langle F_0(t,x), x \rangle \leq -\alpha_0 |x|^2 + \beta_0, \ x \in \mathbb{R}^n, \ t \in \mathbb{R}.$$

Here  $\rho_i : \mathbb{R} \to [0, h]$  are functions representing the variable delays of the model; additional restrictions are imposed on them in Sections 3.1 and 3.2, as well as on the terms  $F_i : \mathbb{R}^n \to \mathbb{R}^n$ , i = 1, ..., m. Furthermore,  $\langle \cdot, \cdot \rangle$  stands for the inner product in  $\mathbb{R}^n$ . Under additional conditions, Section 3.1 generalise a result of [2] for equations with multiple delays under some sublinearity condition. Section 3.2 generalises a result of [3] for multiple, measurable delays.

The rest of the paper is organised as follows. Section 2 summarizes the necessary theory of processes. In section 3, we state and prove our main results.

2. **Preliminaries.** To start with, recall that  $C = C([-h, 0]; \mathbb{R}^n)$  denotes the Banach space of continuous functions  $\phi : [-h, 0] \to \mathbb{R}^n$  equipped with the usual supremum norm. Equation (3) can be rewritten as a non-autonomous differential equation of form

$$\dot{x}(t) = f(t, x_t) \tag{4}$$

where  $f : \mathbb{R} \times C \to \mathbb{R}^n$  is continuous and maps bounded sets into bounded sets. Furthermore, given a continuous function  $x(\cdot) : \mathbb{R} \to \mathbb{R}^n$  and  $t \in \mathbb{R}$ , we denote by  $x_t(\cdot)$  the element in C given by

$$x_t(\theta) = x(t+\theta), \ \theta \in [-h,0].$$

When  $x(\cdot)$  is a solution of (4), then  $x_t(\cdot)$  is said to be the solution segment at time t.

If an initial function  $\phi \in C$  is prescribed at the initial time  $s \in \mathbb{R}$ , the basic theory of delay differential equations (see [7]) implies, under standard assumptions, the existence of the unique solution  $x(\cdot; s, \phi)$  of (4) on  $[s - r, \infty)$ , which satisfies, in addition, the initial condition  $x_s(\cdot) = \phi$ , in other words,  $x_s(\theta) = x(s + \theta) = \phi(\theta)$  for all  $\theta \in [-h, 0]$ .

The unique solution of the initial value problems associated to (4) defines the solution map  $U(t,s): C \ni \phi \mapsto x_t(\cdot; s, \phi) \in C$  for  $t \ge s$ , which is, in fact, a process (also called a two-parameters semigroup), i.e.

- $U(t,s): C \to C$  is a continuous map for all  $t \ge s$ ;
- $U(s,s) = id_C$ , the identity on C, for all  $s \in \mathbb{R}$ ,
- $U(t,s) = U(t,\tau)U(\tau,s)$  for  $t \ge \tau \ge s$ .

As in the autonomous case, we look for invariant attracting sets. First, we introduce the Hausdorff semi-distance between subsets A and B in a metric space (X, d) as

$$dist(A,B) = \sup_{a \in A} \inf_{b \in B} d(a,b).$$

**Definition 2.1.** Let U be a process on a complete metric space X. A family of compact sets  $\{\mathcal{A}(t)\}_{t\in\mathbb{R}}$  is said to be a (global) pullback attractor for U if, for all  $s \in \mathbb{R}$ , it satisfies

- $U(t,s)\mathcal{A}(s) = \mathcal{A}(t)$  for all  $t \ge s$ , and
- $\lim_{s\to\infty} dist(U(t,t-s)D,\mathcal{A}(t)) = 0$ , for all bounded subsets D of X.

**Definition 2.2.**  $\{B(t)\}_{t\in\mathbb{R}}$  is said to be absorbing with respect to the process U if, for  $t \in \mathbb{R}$  and  $D \subset X$  bounded, there exist  $T_D(t) > 0$  such that for all  $\tau \geq T_D(t)$ 

$$U(t, t-\tau)D \subset B(t).$$

The following result (see [5, 20]) shows that the existence of a family of compact absorbing sets implies the existence of a pullback attractor.

**Theorem 2.3.** Let U(t,s) be a process on a complete metric space X. If there exists a family  $\{B(t)\}_{t\in\mathbb{R}}$  of compact absorbing sets then, there exists a pullback attractor  $\{\mathcal{A}(t)\}_{t\in\mathbb{R}}$  such that  $\mathcal{A}(t) \subset B(t)$  for all  $t \in \mathbb{R}$ . Furthermore,

$$\mathcal{A}(t) = \bigcup_{\substack{D \subset X \\ bounded}} \Lambda_D(t)$$

where

$$\Lambda_D(t) = \bigcap_{n \in \mathbb{N}} \overline{\bigcup_{s \ge n} U(t, t-s)D}.$$

**Theorem 2.4.** Suppose that U(t, s) maps bounded sets into bounded sets and there exists a family  $\{B(t)\}_{t\in\mathbb{R}}$  of bounded absorbing sets for U. Then there exists a pullback attractor for problem (4).

We emphasize that it is possible to consider a more general definition of pullback attractor which attracts family of sets in a universe instead of only bounded sets (see [1],[16] for a detailed analysis of this theory). However, the present concept is enough for our interests.

3. Main results. Sublinear non-linearities. In this section, in addition to (A1), we assume that the delay terms are sub-linear in the following sense:

(A2):  $F_i$ , i = 1, ..., m is sublinear, i.e., there exist  $k_i > 0$ , i = 1, ..., m, such that

$$|F_i(x)|^2 \le k_i^2(1+|x|^2), \ x \in \mathbb{R}^n.$$

We will split our analysis into two cases. In the first one, we will consider smooth variable delay functions and uniform (with respect to time) dissipativity on the term  $F_0$  (in order words, independent of t). In the second, we will weaken the hypotheses on the delay functions requiring only the measurability of them, and will allow the dissipativity condition not necessarily be uniform. However, we will need to impose a bit more restrictions on the functions  $F_i$  for  $i = 1, \ldots, m$ .

3.1. Smooth delay functions. When the delay functions are continuously differentiable we can prove the following result which is a natural extension of Theorem 4.3 in [3]. Although the proof follows the same idea with necessary modifications, we provide it here to keep our presentation as much self-contained as possible.

**Theorem 3.1.** Assume that assumptions (A1) and (A2) are satisfied. Furthermore, suppose that each delay function  $\rho_i(\cdot)$  is continuously differentiable with  $\rho'_i(t) \leq \rho_{i*} < 1$  for all  $t \in \mathbb{R}$ . Then, if  $m^2 k_i^2 < \alpha_0^2(1 - \rho_{i*})$ , for all  $i = 1, \ldots, m$ , there exists a family of bounded absorbing sets,  $\{B(t)\}_{t \in \mathbb{R}}$ , and consequently, there exists a pullback attractor for this problem.

*Proof.* Let  $\lambda > 0$  be a constant to be determined later on, and denote (for the sake of simplicity)  $\varepsilon = \frac{\alpha_0}{m}$ . Denote  $x(\tau) = x(\tau; t_0 - t, \psi), \ \tau \in [t_0 - t, t_0]$ , for any  $\psi \in C$  such that  $\|\psi\| \leq d$ . Then, by a suitable application of the Young inequality  $(2ab \leq \varepsilon a^2 + \varepsilon^{-1}b^2)$ , it follows that

$$\begin{split} \frac{d}{d\tau} e^{\lambda\tau} |x(\tau)|^2 &= \lambda e^{\lambda\tau} |x(\tau)|^2 + 2e^{\lambda\tau} \langle x(\tau), f(\tau, x_\tau) \rangle \\ &= \lambda e^{\lambda\tau} |x(\tau)|^2 + 2e^{\lambda\tau} \langle x(\tau), F_0(\tau, x(\tau)) \rangle \\ &+ 2e^{\lambda\tau} \sum_{i=1}^m \langle x(\tau), F_i(x(\tau - \rho_i(\tau))) \rangle \\ &\leq (\lambda - 2\alpha_0) e^{\lambda\tau} |x(\tau)|^2 + 2\beta_0 e^{\lambda\tau} + e^{\lambda\tau} |x(\tau)|^2 \sum_{i=1}^m \varepsilon \\ &+ e^{\lambda\tau} \sum_{i=1}^m \varepsilon^{-1} |F_i(x(\tau - \rho_i(\tau)))|^2 \end{split}$$

$$\leq (\lambda - \alpha_0) e^{\lambda \tau} |x(\tau)|^2 + \left( 2\beta_0 + \varepsilon^{-1} \sum_{i=1}^m k_i^2 \right) e^{\lambda \tau} + e^{\lambda \tau} \varepsilon^{-1} \sum_{i=1}^m k_i^2 |x(\tau - \rho_i(\tau))|^2.$$

Integration on the interval  $[t_0 - t, \tau]$  yields that

$$e^{\lambda\tau}|x(\tau)|^{2} - e^{\lambda(t_{0}-t)}|x(t_{0}-t)|^{2} \leq (\lambda - \alpha_{0})\int_{t_{0}-t}^{\tau} e^{\lambda s}|x(s)|^{2}ds + \frac{2\beta_{0} + \varepsilon^{-1}\sum_{i=1}^{m}k_{i}^{2}}{\lambda} \left[e^{\lambda\tau} - e^{\lambda(t_{0}-t)}\right] + \varepsilon^{-1}\sum_{i=1}^{m}k_{i}^{2}\int_{t_{0}-t}^{\tau} e^{\lambda s}|x(s-\rho_{i}(s))|^{2}ds.$$
(5)

Now we compute the integrals for the addends in the last sum.

$$\begin{split} \int_{t_0-t}^{\tau} e^{\lambda s} |x(s-\rho_i(s))|^2 ds &\leq \frac{1}{1-\rho_{i*}} \int_{t_0-t-h}^{\tau} e^{\lambda u+\lambda h} |x(u)|^2 du \\ &\leq \frac{e^{\lambda h}}{1-\rho_{i*}} \left[ \int_{t_0-t-h}^{t_0-t} e^{\lambda u} |x(u)|^2 du + \int_{t_0-t}^{\tau} e^{\lambda u} |x(u)|^2 du \right] \\ &\leq \frac{e^{\lambda h}}{1-\rho_{i*}} \left[ \int_{t_0-t-h}^{t_0-t} e^{\lambda u} |\psi(u)|^2 du + \int_{t_0-t}^{\tau} e^{\lambda u} |x(u)|^2 du \right] \\ &\leq \frac{d^2 e^{\lambda h}}{\lambda(1-\rho_{i*})} \left[ e^{\lambda(t_0-t)} - e^{\lambda(t_0-t-h)} \right] \\ &\quad + \frac{e^{\lambda h}}{1-\rho_{i*}} \int_{t_0-t}^{\tau} e^{\lambda u} |x(u)|^2 du. \end{split}$$

It follows that

$$\begin{split} e^{\lambda\tau} |x(\tau)|^2 &\leq e^{\lambda(t_0-t)} d^2 + \frac{2\beta_0 + \varepsilon^{-1} \sum_{i=1}^m k_i^2}{\lambda} \left[ e^{\lambda\tau} - e^{\lambda(t_0-t)} \right] \\ &+ \frac{d^2 e^{\lambda h}}{\lambda} \left[ e^{\lambda(t_0-t)} - e^{\lambda(t_0-t-h)} \right] \sum_{i=1}^m \frac{k_i^2 \varepsilon_i^{-1}}{1 - \rho_{i*}} \\ &+ \left( \lambda - \alpha_0 + e^{\lambda h} \varepsilon^{-1} \sum_{i=1}^m \frac{k_i^2}{1 - \rho_{i*}} \right) \int_{t_0-t}^{\tau} e^{\lambda s} |x(s)|^2 ds. \end{split}$$

Now, observe that

$$\begin{aligned} -\alpha_0 + \varepsilon^{-1} \sum_{i=1}^m \frac{k_i^2}{1 - \rho_{i*}} &= -\alpha_0 + \frac{m}{\alpha_0} \sum_{i=1}^m \frac{k_i^2}{1 - \rho_{i*}} \\ &\leq -\alpha_0 + \frac{1}{m\alpha_0} \sum_{i=1}^m \frac{m^2 k_i^2}{1 - \rho_{i*}} \\ &< -\alpha_0 + \frac{1}{m\alpha_0} m\alpha_0^2 \\ &= 0. \end{aligned}$$

Consequently, we can choose a positive, but small enough,  $\lambda$  such that

$$\lambda - \alpha_0 + e^{\lambda h} \varepsilon^{-1} \sum_{i=1}^m \frac{k_i^2}{1 - \rho_{i*}} < 0.$$

This implies that

$$|x(\tau)|^{2} \leq d^{2} \left[ 1 + \frac{e^{\lambda h} \varepsilon^{-1}}{\lambda} \sum_{i=1}^{m} \frac{k_{i}^{2}}{1 - \rho_{i*}} \right] e^{\lambda(t_{0} - t - \tau)} + \frac{2\beta_{0} + \varepsilon^{-1} \sum_{i=1}^{m} k_{i}^{2}}{\lambda}.$$

Setting  $\tau = t_0 + \theta$ ,  $\theta \in [-h, 0]$  we get

$$|x(t_0+\theta)|^2 \le d^2 \left[ 1 + \frac{e^{\lambda h}\varepsilon^{-1}}{\lambda} \sum_{i=1}^m \frac{k_i^2}{1-\rho_{i*}} \right] e^{-\lambda(t+\theta)} + \frac{2\beta_0 + \varepsilon^{-1} \sum_{i=1}^m k_i^2}{\lambda}$$
$$\sup_{\epsilon \in [-h,0]} |x(t_0+\theta)|^2 \le d^2 \left[ 1 + \frac{e^{\lambda h}\varepsilon^{-1}}{\lambda} \sum_{i=1}^m \frac{k_i^2}{1-\rho_{i*}} \right] e^{-\lambda t+\lambda h} + \frac{2\beta_0 + \varepsilon^{-1} \sum_{i=1}^m k_i^2}{\lambda}$$
$$2\beta_0 + \varepsilon^{-1} \sum_{i=1}^m k_i^2$$

$$\leq 1 + \frac{2\beta_0 + \varepsilon^{-1} \sum_{i=1}^m k_i^2}{\lambda}$$

provided that

θ

$$t \ge T_D = \lambda^{-1} \log \left\{ \left[ 1 + \frac{e^{\lambda h} \varepsilon^{-1}}{\lambda} \sum_{i=1}^m \frac{k_i^2}{1 - \rho_{i*}} \right] d^2 e^{\lambda h} \right\}.$$

Consequently, the family of bounded sets  $\{B(t)\}_{t\in\mathbb{R}}$  given by B(t) := B, for all  $t \in \mathbb{R}$ , where *B* denotes the ball in  $C([-h, 0]; \mathbb{R}^n)$  centered at zero with radius  $r = 1 + \frac{2\beta_0 + \varepsilon^{-1}\sum_{i=1}^m k_i^2}{\lambda}$ , is absorbing. On the other hand, as the associated process maps bounded sets of  $C([-h, 0]; \mathbb{R}^n)$  into bounded sets, then Theorem 2.4 (see also Theorem 4.1 in [3]) ensures the existence of the pullback attractor.

3.2. Measurable delay functions. Observe that the differentiability assumption on the delay functions has been a key point in the method used in the previous section. Our aim now is to relax this hypothesis and prove a similar result on the existence of pullback attractor. Our analysis will be carried out assuming that the delay functions  $\rho_i(\cdot)$  are only measurable. But we would like to point out that there exists another technique which can be used when the variable delays are continuous, the so-called Razumikhin method (see, for instance [15]). This will be analysed in a subsequent paper.

In this section, we assume that our non-delay term satisfies a non-autonomous dissipativity condition, i.e. we impose the following assumption on  $F_0$ :

(A1'):  $F_0 : \mathbb{R}^{n+1} \to \mathbb{R}^n$  is continuous and there exist  $\alpha_0 > 0$ , and a non-negative measurable function  $\beta(\cdot)$  such that

$$\langle F_0(t,x), x \rangle \le -\alpha_0 |x|^2 + \beta(t), \ t \in \mathbb{R}, x \in \mathbb{R}^n.$$
(6)

As for  $F_i$  we assume Lipschitz continuity, i.e.,

(A2'): There exists  $L_i > 0, i = 1, ..., m$  such that for any  $x, y \in \mathbb{R}^n$ 

$$|F_i(x) - F_i(y)| \le L_i |x - y|,$$

and  $F_i(0) = 0$ .

Now we can establish our main result in this section.

**Theorem 3.2.** Assume that assumptions (A1') and (A2') are satisfied and that there exists  $0 < \lambda < \alpha_0$  such that

$$e^{\lambda h} \frac{m}{\alpha_0} \sum_{i=1}^m L_i^2 < \lambda \quad and \quad C_t := \sup_{\sigma \ge 0} \int_{t-\sigma}^t e^{\lambda(s-t+\sigma)} \beta(s) \, ds < +\infty, \forall t \in \mathbb{R}.$$
(7)

Then, if  $\rho_i$ , i = 1, ..., m, is measurable, there exists a family of bounded absorbing sets,  $\{B(t)\}_{t \in \mathbb{R}}$ , and consequently, there exists a pullback attractor for the process generated by (3).

*Proof.* Let us consider the number  $\lambda > 0$  from (7), for the sake of clarity write  $\varepsilon = \frac{\alpha_0}{m}$ , and denote  $x(\tau) = x(\tau; t_0 - t, \psi), \ \tau \in [t_0 - t, t_0]$ , for any  $\psi \in C$  such that  $\|\psi\| \leq d$ , and  $t_0 \in \mathbb{R}$ . Then, applying again the Young inequality in the delay terms below,

$$\frac{d}{d\tau}e^{\lambda\tau}|x(\tau)|^{2} = \lambda e^{\lambda\tau}|x(\tau)|^{2} + 2e^{\lambda\tau}\langle x(\tau), f(\tau, x_{\tau})\rangle$$

$$= \lambda e^{\lambda\tau}|x(\tau)|^{2} + 2e^{\lambda\tau}\langle x(\tau), F_{0}(\tau, x(\tau))\rangle\rangle$$

$$+ 2e^{\lambda\tau}\sum_{i=1}^{m}\langle x(\tau), F_{i}(x(\tau - \rho_{i}(\tau)))\rangle$$

$$\leq (\lambda - 2\alpha_{0})e^{\lambda\tau}|x(\tau)|^{2} + 2e^{\lambda\tau}\beta(\tau) + e^{\lambda\tau}|x(\tau)|^{2}m\varepsilon$$

$$+ e^{\lambda\tau}\varepsilon^{-1}\sum_{i=1}^{m}|F_{i}(x(\tau - \rho_{i}(\tau)))|^{2}$$

$$\leq (\lambda - \alpha_{0})e^{\lambda\tau}|x(\tau)|^{2} + 2e^{\lambda\tau}\beta(\tau)$$

$$+ e^{\lambda\tau}\varepsilon^{-1}\sum_{i=1}^{m}L_{i}^{2}|x(\tau - \rho_{i}(\tau))|^{2}.$$

Integration on the interval  $[t_0 - t, \tau]$  yields that

$$e^{\lambda\tau}|x(\tau)|^{2} - e^{\lambda(t_{0}-t)}|x(t_{0}-t)|^{2} \leq (\lambda - \alpha_{0}) \int_{t_{0}-t}^{\tau} e^{\lambda s}|x(s)|^{2} ds + 2 \int_{t_{0}-t}^{\tau} e^{\lambda s} \beta(s) ds + \varepsilon^{-1} \sum_{i=1}^{m} L_{i}^{2} \int_{t_{0}-t}^{\tau} e^{\lambda s} |x(s - \rho_{i}(s))|^{2} ds.$$
(8)

The integrand in the third sum can be estimated

$$\int_{t_0-t}^{\tau} e^{\lambda s} |x(s-\rho_i(s))|^2 ds \le \int_{t_0-t}^{\tau} e^{\lambda s} \sup_{\theta \in [-h,0]} |x(s+\theta)|^2 ds$$

Thus we have

$$|x(\tau)|^{2} \leq e^{\lambda(t_{0}-t-\tau)}|x(t_{0}-t)|^{2} + (\lambda - \alpha_{0})\int_{t_{0}-t}^{\tau} e^{\lambda(s-\tau)}|x(s)|^{2}ds \qquad (9)$$
$$+ e^{-\lambda\tau} \left(2\int_{t_{0}-t}^{\tau} e^{\lambda s}\beta(s)ds + \varepsilon^{-1}\sum_{i=1}^{m} L_{i}^{2}\int_{t_{0}-t}^{\tau} e^{\lambda s}\sup_{\theta\in[-h,0]}|x(s+\theta)|^{2}ds\right).$$

Now, since  $\lambda - \alpha_0 < 0$ ,

$$|x(\tau)|^{2} \leq \left(e^{\lambda(t_{0}-t)}d^{2} + 2\int_{t_{0}-t}^{t_{0}}e^{\lambda s}\beta(s)ds\right)e^{-\lambda\tau} + \varepsilon^{-1}\sum_{i=1}^{m}L_{i}^{2}\int_{t_{0}-t}^{\tau}e^{-\lambda(\tau-s)}\sup_{\theta\in[-h,0]}|x(s+\theta)|^{2}ds$$

Taking the supremum after substituting  $\tau + \theta$ ,  $\theta \in [-h, 0]$ , we obtain

$$\sup_{\theta \in [-h,0]} |x(\tau+\theta)|^2 \leq e^{\lambda h} \left( e^{\lambda(t_0-t)} d^2 + 2 \int_{t_0-t}^{t_0} e^{\lambda s} \beta(s) ds \right) e^{-\lambda \tau} + e^{\lambda h} \varepsilon^{-1} \sum_{i=1}^m L_i^2 e^{-\lambda \tau} \int_{t_0-t}^{\tau} e^{\lambda s} \sup_{\theta \in [-h,0]} |x(s+\theta)|^2 ds.$$

That is

$$e^{\lambda\tau} \sup_{\theta \in [-h,0]} |x(\tau+\theta)|^2 \leq e^{\lambda h} \left( e^{\lambda(t_0-t)} d^2 + 2 \int_{t_0-t}^{t_0} e^{\lambda s} \beta(s) ds \right) \\ + e^{\lambda h} \varepsilon^{-1} \sum_{i=1}^m L_i^2 \int_{t_0-t}^{\tau} e^{\lambda s} \sup_{\theta \in [-h,0]} |x(s+\theta)|^2 ds$$

Thanks to the Gronwall lemma, we have that

$$\sup_{\theta \in [-h,0]} |x(\tau+\theta)|^2 \le e^{\lambda h} \left( e^{\lambda(t_0-t)} d^2 + 2 \int_{t_0-t}^{t_0} e^{\lambda s} \beta(s) ds \right) e^{e^{\lambda h} \varepsilon^{-1} \sum_{i=1}^m L_i^2(\tau-t_0+t)} e^{-\lambda \tau}$$

The substitution  $\tau = t_0$  and the fact that  $e^{\lambda h} \varepsilon^{-1} \sum_{i=1}^n L_i^2 < \lambda$  imply that  $\sup_{i=1}^n |x(t_0 + \theta)|^2$ 

$$\begin{aligned} \sup_{\theta \in [-h,0]} |x(t_0 + \theta)| \\ &\leq e^{\lambda h} \left( e^{\lambda(t_0 - t)} d^2 + 2 \int_{t_0 - t}^{t_0} e^{\lambda s} \beta(s) ds \right) e^{e^{\lambda h} \varepsilon^{-1} \sum_{i=1}^m L_i^2 (t - t_0)} \\ &\leq e^{\lambda h} \left( e^{-\left(\lambda - e^{\lambda h} \varepsilon^{-1} \sum_{i=1}^m L_i^2\right) (t - t_0)} d^2 + 2 e^{\lambda(t - t_0)} \int_{t_0 - t}^{t_0} e^{\lambda s} \beta(s) ds \right) \\ &\leq e^{\lambda h} \left( e^{-\left(\lambda - e^{\lambda h} \varepsilon^{-1} \sum_{i=1}^m L_i^2\right) (t - t_0)} d^2 + 2 \sup_{t \ge 0} \int_{t_0 - t}^{t_0} e^{\lambda(s - t_0 + t)} \beta(s) ds \right) \end{aligned}$$

Thus, we finally obtain that

$$\sup_{\theta \in [-h,0]} |x(t_0 + \theta)|^2 \le e^{\lambda h} \left( e^{-\left(\lambda - e^{\lambda h} \varepsilon^{-1} \sum_{i=1}^m L_i^2\right)(t-t_0)} d^2 + 2C_{t_0} \right)$$
$$\le (1 + 2C_{t_0}) e^{\lambda h}$$

provided

$$t \ge T_D = \left(\lambda - e^{\lambda h} \varepsilon^{-1} \sum_{i=1}^m L_i^2\right)^{-1} \log \left( d^2 e^{\left(\lambda - e^{\lambda h} \varepsilon^{-1} \sum_{i=1}^m L_i^2\right) t_0} \right).$$

Consequently, the family of bounded sets  $\{B(t)\}_{t\in\mathbb{R}}$  in  $C([-h, 0]; \mathbb{R}^n)$  given by B(t) := B(0; r(t)), for all  $t \in \mathbb{R}$ , where B(0; r(t)) denotes the ball centered at zero with radius  $r(t) = (1 + 2C_t) e^{\lambda h}$ , is absorbing. Taking into account again that the associated process maps bounded sets into bounded sets of  $C([-h, 0]; \mathbb{R}^n)$ , the existence of the pullback attractor is ensured again by Theorem 2.4.

8

**Remark 1.** It is worth noticing that, although assumption (7) may seem rather artificial, it is somehow quite natural since it holds provided that either the delay parameter h or the Lipschitz constants  $L_i$  are small in comparison with the dissipativity constant  $\alpha_0$ .

4. **Conclusion.** In this paper we presented two non-trivial extensions of previous results on the asymptotic behaviour of solutions to non-linear delay differential equations. These earlier results established existence of pullback attractors for delay differential equations with one delay function. Our work generalises these results to the case of multiple delay functions and also weakened the assumptions on the delays. Thus our study contributes to the available knowledge on the long-time behaviour of delay differential equations. To proceed even further, we intend to study the structure of existing attractors to the above studied equations.

Acknowledgments. We would like to thank the referee for his/her suggestion which led to the final, a significantly improved, version of Theorem 3.3.

## REFERENCES

- [1] T. Caraballo, G. Lukaszewicz and J. Real, *Pullback attractors for asymptotically compact non-autonomous dynamical systems*, Nonlinear Anal., **64** (2006), 484–498.
- [2] T. Caraballo, P. Marín-Rubio and J. Valero, Autonomous and non-autonomous attractors for differential equations with delays, J. Differential Equations, 208 (2005), 9–41.
- [3] Tomás Caraballo, José A. Langa and James C. Robinson, Attractors for differential equations with variable delays, J. Math. Anal. Appl., 260 (2001), 421–438.
- [4] Huabin Chen, Impulsive-integral inequality and exponential stability for stochastic partial differential equations with delays, Statist. Probab. Lett., 80 (2010), 50–56.
- [5] Hans Crauel and Franco Flandoli, Attractors for random dynamical systems, Probab. Theory Related Fields, 100 (1994), 365–393.
- [6] Jack K. Hale, "Asymptotic Behavior of Dissipative Systems," Mathematical Surveys and Monographs, 25, American Mathematical Society, Providence, RI, 1988.
- [7] Jack K. Hale and Sjoerd M. Verduyn Lunel, "Introduction to Functional-Differential Equations," volume 99 of Applied Mathematical Sciences. Springer-Verlag, New York, 1993.
- [8] Gábor Kiss and Bernd Krauskopf, Stability implications of delay distribution for first-order and second-order systems, Discrete Contin. Dyn. Syst. Ser. B, 13 (2010), 327–345.
- [9] Gábor Kiss and Bernd Krauskopf, Stabilizing effect of delay distribution for a class of secondorder systems without instantaneous feedback, Dynamical Systems: An International Journal, 26 (2011), 85–101.
- [10] Gábor Kiss and Jean-Philippe Lessard, Computational fixed point theory for differential delay equations with multiple time lags, J. Differential Equations, 252 (2012), 3093–3115.
- P. E. Kloeden, Pullback attractors of nonautonomous semidynamical systems, Stoch. Dyn., 3 (2003), 101–112.
- [12] Tibor Krisztin, Global dynamics of delay differential equations, Periodica Mathematica Hungarica, 56 (2008) 83–95.
- [13] Tibor Krisztin, Hans-Otto Walther and Jianhong Wu, "Shape, Smoothness and Invariant Stratification of an Attracting Set for Delayed Monotone Positive Feedback," volume 11 of Fields Institute Monographs. American Mathematical Society, Providence, RI, 1999.
- [14] Michal Křížek, Numerical experience with the finite speed of gravitational interaction, Math. Comput. Simulation, 50 (1999), 237–245. Modelling '98 (Prague).
- [15] Yang Kuang, "Delay Differential Equations with Applications in Population Dynamics," volume 191 of Mathematics in Science and Engineering. Academic Press Inc., Boston, MA, 1993.
- [16] Pedro Marín-Rubio and José Real, On the relation between two different concepts of pullback attractors for non-autonomous dynamical systems, Nonlinear Anal., 71 (2009), 3956–3963.
- [17] Roger D. Nussbaum, Differential-delay equations with two time lags, Mem. Amer. Math. Soc., 16 (1978), vi+62.
- [18] Roger D. Nussbaum, Functional differential equations, in "Handbook of Dynamical Systems,"
   2, 461–499. North-Holland, Amsterdam, 2002.

- [19] Martin Rasmussen, "Attractivity and Bifurcation for Nonautonomous Dynamical Systems," volume 1907 of Lecture Notes in Mathematics. Springer, Berlin, 2007.
- [20] B. Schmalfuss, Backward cocycles and attractors of stochastic differential equations, in "International Seminar on Applied Mathematics-Nonlinear Dynamics: Attractor Approximation and Global Behaviour," 185–192. Dresden, 1992.
- [21] George R. Sell, Nonautonomous differential equations and topological dynamics. I. The basic theory, Trans. Amer. Math. Soc., 127 (1967), 241–262.
- [22] George R. Sell, Nonautonomous differential equations and topological dynamics. II. Limiting equations, Trans. Amer. Math. Soc., 127 (1967), 263–283.
- [23] H. O. Walther, Dynamics of delay differential equations, in "Delay Differential Equations and Applications," 205 of NATO Sci. Ser. II Math. Phys. Chem., 411–476. Springer, Dordrecht, 2006.

Received September 2011; revised November 2011.

E-mail address: caraballQus.es E-mail address: g.kissQimperial.ac.uk